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x+y= V3, x—y= V2 4 o], x -y + 4x — 4y 2] gk-Z FoHH?

@V6+4vi @ V6-442 ® 26+ V2
@ 3v6-2v2 ® 4vV6-5V2

B

=y Hdx—dy = (x+y)(x-y) +4(x-y)
x—=y)(x+y+4)
2(V3+4)

= V6+4v2
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(2x = 3)(x+ B) = 2x? + 2Bx - 3x — 3B
=2-x+A

9B-3=-1,B=1

—3B=A,A=-3

W A+B=(-3)+1=-2




3. (x-2y)(x-2y-3)-10= A=sEHetH
(x=2y+m)(x=2y+n) 4, mn 2] 2F-2?

@-10 @3 ®10 @2

~&B

x—2y =123,
t(t-3)-10=1>-3t-10
=({-5)(t+2)
=(x—2y-5)(x-2y+2)
m=-=-5n=2

Somn = —10




4. T2 5 (x+5)2-2(x+5)-15 2] Q1591 A2

@x+8 @ x-5 @ x-1 @ x-7 ® x+14

B

x+5 =12 23IH
(x+5)2-2(x+5)-15=r2-2t-15
= (1-5)(t+3)
= x(x + 8)
m2bA] 1944= x, x + 8°]Th
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o|=?
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x—1
Ssx+77
D 2x+1 @)2x+3 ® 2x+5
@ x+4 ® x+3

Attha] & 9] 0|5 p, Yol|E § 2t 514
S = %h(x— 14+x+7) = %h(2x+6) = h(x+3)

232+ 9x+9=(2x+3)(x+3) = h(x+3)°| B2 h=2x +3
ojtt.




6. x'-5x%+49 Ql7Fobd ALY

@ x-1 @ x+2 ® x+1 @ x-2 (@)x—4




